30 01 25

G

5,433

5,433

H26

H29

H31

H31

41

47

48




H27 |He8 [H29 [H30 [H31

A07-001 A=0.8ha [ I B A B | 30
A07-002 A=0.5ha [ I B A B | 17
A07-003 A=0.6ha [ I B A B | 23
A07-004 A=0.2ha [ I B A B | 8
A07-005 A=3.0ha [ I B A B | 111
A07-006 A=10.5ha [ I B B BN 479




H27 |He8 [H29 [H30 [H31

A07-007 A=5.0ha [ I B A B | 213
A07-008 n n n n n 1,503
A07-009 L=610m [ I B B 179
A07-010 A=0.4ha [ I B A B | 16
A07-011 A=3.5ha [ I B A B | 156
A07-012 A=0.6ha [ I B A B | 26




H27 |He8 [H29 [H30 [H31

A07-013 A=2.6ha [ I B A B | 113
A07-014 A=1.8ha [ I B A B | 77
A07-015 L=270m [ B BN BN B 80
A07-016 L=1,010m [ I B B BN 214
A07-017 L=1,200m [ I B B BN 540
A07-018 A=16.1ha [ I B B BN 718




H27 |He8 [H29 [H30 [H31

A07-019 L=900m [ I B B BN 356
A07-020 A=2.2ha [ I B A B | 100
A07-021 L=830m [ I B B BN 271
A07-022 A=0.6ha [ I B A B | 25
A07-023 [ I 111
A07-024 A=0.4ha [ I 67




H27 |He8 [H29 [H30 [H31




H27 H28 H29 H30
@) 830 500 500 480
() 0 0 0 0
(c=atb) 830 500 500 480
(d) 51 49 52 57
®) 832 496 495 460
® 49 53 57 77
0 14 23 36
(h = ct+d-e-f) 0 0 0 0
(i = (g+h)/(c+d)) 0 2.55 4.16 6.74
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